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o <BO times as <HAFH/EERR > as ~ : ~D<EOBE. <ARFA/FEL,

This ri is th ti long that "
Is river is three times as long as tha OISO D 3 EE -,

river.

This jet travels about three times as N . -
! v = IOV v MEIXFEDK 3 E TR,
fast as the speed of sound.

TAIEBERULK HBWKERIDE, | EEVWIEEIZIE las <KERED as) 2HWVWT A is as <EHEFAD

as B.] 9255 (fl: [Fukui is as big as Ishikawa. (FEHEIXAJINEELFH USRIV, ) | ) .
CORBEILEL T, las <BAF> as] DN KD times] £f1ZX 5 I & T lAIXBOEETAT
E(SAFBEZBEORBRULAZEDLERIUSLWGEEFDE) | 2HKRTLIRBAZELIZLNTED (4l :
[Yamanashi is two times as big as Ishikawa. ([LUFLEIZANINRD 2HEDKREIXZ, ) 1),

Tom is twice as old as his brother, A (205%) (356 (10m%) O 2 f5DEmZ,
Tom is half as old as his father. ~ AIERBL (407%) DH:5r DI,

Tom is one third as old as his grandpa. ~ AFHR (605%) D 330D 1 DT,
Tom is two thirds as old as his uncle. %Alifi?ﬁué (307%) D 373D 2 DFHw7z,
Tom is 1.3 times as tall as his brother. N2 (182em) 1&eh (140em) DL 3MEDEHET,

b= 477749

2 [ IZtwo  timesDFED Y IZtuice % D Z N T X5, KAk bhalfz fiv5, & (i :
times) 434 (one third=34dD 1, two fifths=54 D 21) LFHATI B,

BE. [~ times <FHBEwsm e than] (F. [~ times as By as] ERAUEKRTHDONSE D
(f§ : TThis river is three times longer than that river.] ) . FIX5HLLWVDOT ( TANBD~fE&
L54OEALI BOMN TADNBD~ELY I SIZE] BOPBEKRIZARDS) . HOTEXEZEBICIZERE
D [~ times as <FHBFHEre> as] ZHHATDIEFI VR,

BEDTNT 7Ny hTOESHUAR, 90 FOBREEE (SE@DEKT, #l: one, two, three) THL., ROTHRDE% ¥
§5} (= %zE£TE. #l: first, second, third) TKRY, DFMN2ULEDEGEIX. RO EELILIZT S, il : 1/3=one third,
2/3=two thirds,
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<> times as many/much <£&E> as

& B times as many/much <ZE> as ~ : ~DEOEDOE/EDLEFAD,
Tom is three times as rich as Ken. N VD 3 fEeRD 72,
Tom has three times as much money as Ken. NAXT YD 3EDREDOEEFF> TV,
[ have as many friends as you have. IZEZBLRIULS H5WE LS DEADPINS,

[<#> times as many/much <&FA> as ~] DE T, [~DEOEOE/EDEFA ] OERDORIKIZR S,

(3] astasDRIICHBA+LAE I I —2

& <BD times as <FRFmp> (a/an) <HZFED as ~ : ~OEOBEHEFD RLEFAD T,

India has over eight times as large a 1V RIFEAD 85 EDORZ X DA ZED,
population as Japan has. wiEia/anDA B M EBISER,

Oxygen is sixteen times as heavy a gas as

EFEIFIKED 1 6 fEENMAZ,
hydrogen.

askasDEIZ, F#DIEEGFEZ D ANDIRDOVIZ KERFERg> <KD 2HWBS LT, [~O<EOE
FBFA KR OREKRDREZMED N TEDS, Wida/anBADHEIL. BAGH L AGFAORIZ AN
% (] : Tas large a population as] ) ,

<ED times the size of

& B times the size of ~ : ~DEOEDKRZ X,

The country is five times as large as

Japan.
ZTOEIIHADSEDORKEIITH D,

The country is five times the size of
Japan.

[<KED times| DIz, Tlas large/big as] DOARDYIZ Tthe size of] ZHWTHEBEDERDERE/ES
ZEMTE D,



